
The Powers of Ten



Quarks



10 - 15 meters = 1 fm = 1 femtometer

Within the proton 



10 -14 meters = 10 fm = 10 femtometers 

The carbon nucleus 



10 -13 meters = 100 fm = 100 femtometers 

The Nucleus



10 -12 meters = 1 pm = 1 picometer 

Within the electron cloud



The inner electron cloud

10 - 11 meters = 10 pm = 10 picometers



Carbon's outer electron shell 



10 -9 meters = 1 nm = 1 nanometer 

The molecules of DNA 



10 -8 meters = 10 nm = 10 nanometers 

DNA within a virus



10 -7 meters = 100 nm = 100 nanometers 

A virus 





10 -5 meters = 10 µm = 10 micrometers 

Bacteria


